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Reading Comprehension

Direction: Read the following nine passages and answer the questions by choosing the best choice among
(1), (2), (3) or (4). Then mark the correct choice on your answer sheet.

Passage 1
Fluid mechanics, as the name indicates, is that branch of applied mechanics which is concerned with the
static and dynamics of liquids and gases. The analysis of the behavior of fluids is based upon the
fundamental laws of applied mechanics which relate to the conservation of mass-energy and the force-
momentum equation, together with other concepts and equations with which the student who has already
studied solid-body mechanics will be familiar. There are, however, two major aspects of fluid mechanics
- which differ from solid-body mechanics. The first is the nature and properties of the fluid itself, which are
very different from those of a solid. The second is that, instead of dealing with individual bodies or elements
of know mass, fluid mechanics is frequently concerned with the behavior of a continuous stream of fluid,
without beginning or end. -

1 —Academically speaking, the student who takes the course of fluid mechanics, should have already passed

solid mechanics. In other words, solid-body mechanic is ......... fluid mechnics. (AD JLw)
1) needed to 2) prerequisite to 3) requisite to 4) prior to
2 .Unlike solid-body mechanics, ......... is dealing with the behaViour of a continuous stream of fluid,
without beginning or end. (A0 JLo)
1) statics 2) dynamics 3) fluid mechanics 4) applied mechanics
3 ~Fluid mechanics is regarded as a branch of applied mechanics because ......... . (Ad JW)

1) it is dealing with liquid and gases

2) fluid laws are similar to solid laws

3) the behaviour of fluid is bases upon the fundamental laws of applied mechanics

4) fluid mechanics like applied mechanics is concerned with the dynamics of continuous streams

Passage 1I

Petrochemicals are generally considered to be chemical compounds which are derived from petroleum either
by direct manufacturer or by indirect manufacture as by-products from the variety of processes that are used
during the refining of petroleum. Gasoline, kerosene, fuel oils, lubrication oils, waxes, asphalts, and the like
are excluded from the definition of petrochemicals, since they are not, in the true sense, chemical compounds,
but are, in fact, intimate mixtures of hydrocarbons.

The starting materials for the petrochemical industry are obtained from crude petroleum in one of two
general ways. They may be present in the virgin petroleum and, as such, are isolated by physical methods
such as distillation or solvent extraction. On the other hand, they may be present, if at all, in trace amounts
and are synthesized during the refining operations.

4 _Fuel oils, lubricating oils, waxes and asphalts are ......... i (AD JW)
1) petrochemicals 2) mixtures of hydrocarbons
3) partially petrochemicals 4) petroleum based chemicals
5 ~The feedstock for petrochemical industry may be obtained either directly from ......... of crude oil,
Or ......... during refining operations. (Ad JL)
1) distillation — synthesized 2) distillation — solvent exiraction

3) synthesis — distillation 4) solvent extraction — distillation
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Passage I11

The 19" Century saw enormous advances in polymer chemistry. However, it required the insights of
chemical engineers during the 20" Century to make mass produced polymers a viable economic reality.
When a plastic called bakelite was introduced in 1908 it sparked the dawn of the “Plastic Age” and quickly
found used in electric insulation, plugs & sockets, clock bases, iron cooking handles, and fashionable jewelry.
Today plastic has become so common that we hardly notice it exists. Yet nearly all aspects of modem life are
positively and profoundly impacted by plastic.

6 —According to the above passage, choose the correct sentence. (A JLw)

1) Plastic is not a useful product in modern life.

2) Polymer chemistry is part of chemical engineering.

3) All the artificial jewelries are made from Bakelite.

4) Mass production of plastic was the achievement of chemical engineering.

7 -According to the above passage, complete the following sentence “It sparked the down of plastic age”

means ......... . - .. (AS JLw)
1) the plastic age started 2) Bakelite is a plastic
3) plastic can be joined by sparks 4) when you see a spark the dawn starts

Passage IV

One of the industrial processes for the production of phenol is a two stage oxidation reaction in which
initially toluene is converted to benzoic acid which in turn is oxidized to phenol. Efficient gas-liquid
contacting design and economic recovery of organics from the water containing fractions in the second stage
are the two main design problems.

The incentive for switching to toluene as an aromatic source comes from the oversupply of toluene available
at low-cost from petroleum reforming. The major disadvantages of the method are the two-stage oxidation
with the handling of solid intermediate and a fairly elaborate process scheme throughout. The development
of a simpler, single step oxidation of toluene would indeed be a major break-through in synthetic phenol
production.

8 —Toluene is a good raw material for the production of phenol because ......... . (M JL)
1) it is an aromatic source 2) its productions exceeds its demand
3) it is coveted to phenol in two stage 4) it is produced during petroleum reforming

9 _In the production of phenol, benzoic acid is a/an ......... . (A JLw)
1) product 2) by-product 3) raw material 4) an intermediate

Passage V

From blankets and cloths to beds and pillows, synthetic fibers keep up warm, comfortable, and provide a
good night’s rest. Synthetic fibers also help reduce the strain on natural sources of cotton and wool, and can
be tailored te specific applications. For example; nylon stockings make legs look young which bullet proof
vests keep people out of harm’s way.

10 — According to the text, choose the correct sentence. A JW)

1) synthetic fibers have a dominant role in everyday life.

2) synthetic fibers are not as good as natural fibers.

3) synthetic fibers are made from petreleum derivatives.

4) synthetic fibers put a lot of pressure on the consumption of cotton and wool.
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Passage VI

An immense number of analytical solutions for conduction heat-transfer problems has been accumulated in
the literature over the past 100 years. Even so, in many practical situations the geometry or boundary
conditions are such that an analytical solution has not been obtained at all, or if the solution has been
developed, it involves such a complex series solution that numerical evaluation becomes exceedingly
difficult. For such situations the most fruitful approach to the problem is one based on finite-difference
techniques. Of course, the rapid development of high-speed computers has enabled the practicing heat-
transfer specialist to obtain numerical solutions to many problems heretofore believed to be impossible.

11 - From the text, the writer implies that the accumulation of the analytical solutions to the problems of
conduction heat-transfer has not offered clear-cut solutions to them over the past 100 years.

The word “offered” here is closest in meaning to ......... . (A JLo)
1) attained 2) prescribed 3) proposed 4) mentioned
12 . From the text, it can be inferred that with the aid of high-speed computers, heat-transfer specialists
have made a remarkable ......... in finding numerical solutions to many problems heretofore believed to
be impossible. (A Jlw)
1) Progress 2) latterly 3) which 4) formerly
13 — The word “heretofore” in the last line of the text is closest in meaning to ......... . (Ad Jlw)
1) they - 2) latterly 3) which 4) formerly
Passage VII

Chemical engineers have long studied complex chemical processes by breaking them up into smaller “unit
operations.” Such operations might consist of heat exchangers, filters, chemical reactors and the like.
Fortunately this concept has also been applied to the human body. The results of such analysis have helped
improve clinical care, suggested improvements in diagnostic and therapeutic devices, and led to mechanical
wonders such as artificial organs. Medical doctors and chemical engineers continue to work hand in hand to
help us live longer fuller lives.

14 _ According to the text above, finish the following sentence.
The human body ......... . (Ad JLw)

1) "Unit-operations" are more complicated than human organs.

2) Most of the diagnostic and the therapeutic devices are made by chemical engineers.
3) Medical doctors would not do anything without the help of chemical engineers.

4) Chemical engineers have helped medical doctors for health improvement of human.

15— According to the text above, finish the following sentence.
The human body ......... . (Ad JLo)

1) is complete chemical process

2) can work with many artificial organs

3) can be broken up into small unit operations

4) needs more clinical care than complicated chemical plants

Passage VIII

Petroleum refineries are marvels of modern engineering. Within them a maze of pipes, distillation columns,
and chemical reactors turn crude cil into valuable products. Large refineries cost billions of dollars, employ
several thousand workers, operate around the clock, and occupy the same area as several hundred football
stadiums. The U.S. has about 300 refineries that can process anywhere between 40 and 400,000 barrels of oil
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16 — A maze of pipe refersto ......... . (A JLw)

1) pipes with lots of valves and fittings 2) numerous pipes gone everywhere

3) a number of large pipes 4) pipes of different sizes
17 . Operations around the clock means ......... . (Ad JL)

1) work very precisely 2) operate on a time basis

3) all units are time dependent 4) operate on a continuous basis

Passage IX

The domination of oil is coming to an end. Emissions of CO, must be reduced.

These two widely-publicised premises press for new sources of energy, and soon, too. The steadily
increasing price of crude oil adds weight. Could hydrogen be the elixir for the world’s energy supply?

" Why not? Hydrogen is the most abundant element on earth (in the universe, in fact), and its energy release
does not contribute CO, to the atmosphere. Hydrogen looks ideal. No more energy cartels; no more global
warming warnings attributed to human’s energy uses. Seems perfect. Let’s look at key facets of such an
energy system to be sure.

First, availability. Yes, hydrogen is all over the place-in almost everything organic, in the ground, and in
water, the substance which covers about 70% of the earth’s surface. But is hydrogen easily captured by itself?
There’s a rub. Hydrogen clings tightly to its neighbours. Much energy has to be expended for it to release its
bond, then, usually, some more energy must be given up to separate and purify it; hydrogen has to be pure
for most effective, efficient energy uses.

18 _ We need new sources of energy in orderto ......... . (Ad JLw)
1) decrease oil prices 2) decrease CO, discharges
3) publicise the two premises 4) make oil a dominant source of energy

19 . What is a disadvantage of hydrogen as an energy source? (Ad Jw)
1) It has to be pure. 2) It is all over the place.
3) It is not energy efficient. 4) 1t is elixir of the world’s energy supply.

20 - Hydrogen can be a good alternative energy source to oil because ......... . (AD JLw)
1) it is an ideal gas 2) it is a scarce element
3) it does not cause global warning 4) it has low CO, emission to atmosphere

Reading Comprehension

Direction: Read the following passages and answer the questions by choosing the best choice among (1), (2),
(3) or (4). Then mark the correct choice on your answer sheet.

In leaching, soluble material is dissolved from its mixture with an inert solid by means of a liquid solvent.
Typical countercurrent leaching plant consists of a series of units, in each of which the solid from the
previous- unit is mixed with the liquid from the succeeding unit and the mixture allowed to settle. The solid is
then transferred to the next succeeding unit, and the liquid to the previous unit. As the liquid flows from unit
to unit, it becomes enriched in solute, and as the solid flows from unit in the reverse directions, it becomes
impoverished in solute. The solid discharged from one end of the system is well extracted, and the solution
leaving at the other end is strong in solute. The thoroughness of the extractions depends on the amount of
solvent and the number of units. In principle, the unextracted solute can be reduced to any desired amount if
enough solvent and a sufficient number of units are used.
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21 - Which of the following words best describes the passage of the liquid and the solid from one unit to

another? (A% JLw)
1) alternate 2) counter current 3) co-current 4) succeeding
22 . What is the best meaning for impoverished as used in this text? (A% JLo)
1) demoted 2) denatured 3) devastated 4) depleted
23 . What is the best meaning for discharged as used in this text? (Af Jlw)
1) disbanded 2)) dismissed 3) removed 4) introduced

A diffusion driven desalination process was recently described where a very effective direct-contact
condenser with a packed bed is used to condense water vapor out of an air/vapor mixture. A laboratory scale

_ direct contact condenser with packed bed has been fabricated with co-current and countercurrent flow stages.
Temperature and humidity data have been collected at the inlet and exit of the packed bed for different water
to air mass flow rations that vary between 0 and 2.5. the condenser effectiveness is strongly dependent on the
water to air mass flow ratio and not sensitive to the air inlet temperature/humidity. Because the temperature
range Is small at any cross section for the current application, a simplified two-fluid model using one-
dimensional mass and energy conservation equations has been developed for co-current and countercurrent
flow packed bed direct contact condensation heat and mass transfer. A one-dimensional model based on
conservation principles, predicts the variation of temperature, humidity, and condensation rate through the
condenser stages. In general, the analytical model proves to be quite satisfactory for prediciting the thermal
performance of both flow configurations.

24 _ A direct contact condenser can be fabricated with ......... flow stages. (AF Jb)
1) vertical 2) perpendicular 3) horizontal 4) cocurrent

25 _ The condenser efficiency is sensitive to ......... . (Af J)
1) temperature 2) humidity
3) latent heat 4) water to air mass flow ratio

26 — The two fluid models for heat and mass transfer in direct contact condensation has been used ......... }

(A Jlw)
1) because of the low temperature variation
2) because of the constant temperature
3) because of the low pressure variation
4) to develop one dimensional mass and energy conservation equation
27 - In which case is the use of the analytical model satisfactory? (AF J)
1) with caution for counter current flow 2) cocurrent and countercurrent flows
3) only cocurrent flow 4) for vertical flow

Important determinants of solvent selection

Early predictions suggested that solvents would eventually be eliminated from industrial applications
because of health and environmental concerns. After a short period of a small decline in solvent use in 1990s,
the solvent demand is now growing steadily by 2.3% per year.

At the same time, there have been changes in the types of solvents that are being used today. The general
trend towards elimination and replacement of some the more toxic and environmentally unfriendly species.
There has been an increase in the use of high-perforrhance solvents, as well as the application of engineering
controls to preveni accidental releases of solvents. In line with these trends, it is essential for chemical
engineers to understand the parameters that are important for solvent selection, enabling them to choose a
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28 — Solvent consumption is ......... . (A Jw)
1) being eliminated 2) at steady state 3) growing slowly 4) growing fast
29 . Species means ......... . (A# Jw)
1) brands 2) elements 3) micrororganisms 4) solvents
30 — In line with these trends means, ......... . (Af JL)
1) in accordance with what was said before 2) in harmony with consumption
3) in comparison with others 4) nevertheless
31 — To choose the right solvent ......... . (A# JL)
1) selection parameters should be understood 2) prices should be compared
3) plant engineers should be trained 4) its performance should be high

Research investigation for a chemical industrial company in general covers three main aspects. There is
research on the existing processes, which has the objectives of improving the processes and lowering the
costs; then there is a field of research arising from modifications and alterations to there processes and lastly
there is exploratory research on entirely new processes and products.

32 - One of the main objectives to carry out research in a chemical industrial company is: (A JLw)
1) decreasing taxes 2) increasing production costs ,
3) changes in an existing process 4) increasing maintenance

33 . The results of research in a chemical industrial company can be: (Af JLw)
1) abandoned product 2) completetly new products
3) conventional products 4) traditional products

In one plant, odorous emissions were observed for several years near a drum dryer line used for volatilizing
an organic solvent from a reaction mixture.

Although two dryer-product lines existed, the odors were observed only near one line.

The analysis and field testing indicated that the chemical compounds causing the odors were produced in
upstream unit operations due to the hydroloysis of a chemical additive used in the process. The hydrolysis
products were stripped out of the sclution by the process solvent and appeared as odorous fumes at the dryer.
Conditions for hydrolysis were favorable at upstream locations because of temperature and acidity conditions
and the residence time available in the process. Also, the water for the hydrolysis was provided by another
water-based chemical additive used in the dryer line that had the odor problem.

Because the cause of the odorous emission was the process chemistry, the plant had to evaluate ways to
minimize hydrolysis and the resulting formation of odorous products. Ventilation modifications to mitigate
the odor levels would not be a ling-term solution to the odor problem.

34 _ The text talks about how the odors canbe ......... . (Af JL)
1) prevented 2) observed 3) generated 4) emitted

35 - The main source of odor was due to ......... . (Af JL)
1) acidic conditions 2) degredation of the organic solvent
3) hydrolysis of a chemical compound 4) long residence time conditions

36 — Odor problem could be successfuliy overcome by, ......... . (Af JLw)
1) adding a new line 2) preventing hydrolysis

3) strip out chemical compound 4) ventilation
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37 - Water for hydrolysis comes from ......... . (AF JL)
1) another chemical additive 2) chemical reaction within the process
3) odorous compound 4) the other dryer line

The search for alternative sources of energy has led various directions. Many communities are burning
garbage and other biological waste products to produce electricity. Converting waste products to gases or oil
is also an efficient way to dispose of wastes.

Experimental work is being done to derive synthetic fuels from coal, oil shale, and coal tars. But to date, that
process has proven expensive. Other experiments are underway to harness power with giant windmills.
Geothermal power, heat from the earth, is also being tested.

Some expert utility companies to revive hydroelectric power derived from streams and rivers. Fifty years ago
hydroelectric power provided one third of the electricity used in the United States, but today it supplies only
4 percent. The oceans are another potential source of energy. Scientists are studying ways to convert the
energy of ocean currents, tides, and waves to electricity. Experiments are also underway to make use of
temperature differences in ocean water to produce energy.

38 - Which is the best title for the passage? (A JLw)
1) The use of water products for Energy 2) New discoveries in geothermal power
3) Efficient ways of disposing of waste 4) Alternative sources of energy

39 . Which of the following is NOT mentioned in the passage as an alternative source of energy? (Af Jlw)
1) Synthetic fuels 2) Geothermal power  3) Electricity 4) Burning of garbage

40 — What can be inferred from the last paragraph? (A% JLw)

1) All alternative production of energy will be derived from water
2) Alternative energy will come from a variety of sources
3) Hydroelectric power will be the main source of energy
4) Synthetic fuels will be the principal source of alternative energy

PART A: Vocabulary

Direction: Choose the_nu_mber of the answer (1), (2), (3) or (4 that best completes the sentence. Then mark
your answer on the answer sheet.

41 - The board agreed to ......... two committees to examine the proposals. (AY JLa)
1) distinguish 2) generate 3) establish 4) attribute

42 _ The Red Cross organized the ......... of food and clothing in the disaster area. (AY JL)
1) distribution 2) application 3) integration 4) implementation

43 _ Ahigh......... of the products tested were found to contain harmful chemicals. (AY JL)
1) contribution 2) proportion 3) dimension 4) resolution

44 _ The slight difference in the way men and women are affected by the drug is not really ......... . (AY JL)
1) intrinsic 2) contrary 3) predominant 4) significant

45 _ The schedule isn’t final, but we don’t ......... many changes. (AY J)
1) estimate 2) anticipate 3) conduct 4) allocate

46 — They ......... principles of international law to claim ownership of the sunken ship. (AY Jw)

1) invoked 2) promoted 3) induced 4) derived
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47 _ The program allows leamers to ......... their own interests as well as do their school work. (AY JL»)

1) attain 2) retain 3) display 4) pursue
48 . Continued economic growth is a danger to the environmental ......... of the planet. (AY JLo)

1) assurance 2) stability 3) convention 4) conformity
49 _ During the last one hundred years, ......... every aspect of life has been westernized. (AY JL)

1) conversely 2) primarily 3) virtually 4) redundantly
50 —~ U.N. officials have called for extra financial ......... to deal with the emergency. (AY J)

1) resources 2) circumstances 3) parameters 4) initiatives

) PART B: Grammar

Direction: Read the following passages and decide which choice (1), (2), (3) or (4) best fits each blank. Then
mark your answer on your answer sheet.

Everyone brings some kind of power to the negotiating table. It’s easy to be awed ...(51)... external sources
of power and influence while ...(52)... such internal sources of your own power ...(53)... your self-esteem,
self-knowledge and confidence ...(54)... fast on your feet. Power in a negotiation can be very dynamic. Be
patient and your own store of internal power ...(55)... to your advantage.

51 ~ ' (AY JL)
1) for 2) with 3)by 4) from

52 - (AY JL»)
1) overlooking 2) to overlook 3) be overlooking 4) being overlooked

53 - (AY JL)
1) of 2) as 3) like 4) about

54 _ (AY JL»)
1) you think 2) so thinking 3) to think 4) as you are thinking

55- = (AY JL)
1) being working 2) is working 3) is to work 4) will work

PART C: Reading Comprehension

Direction: Read the following passages and choose the best choice (1), (2), (3) or (4. Then mark it on your
answer sheet.

Passage I

Discarded tires have been a disposal problem in the past and continue to accumulate throughout the world
today. Recent figures from the United States Environmental Protection Agency (EPA) show that over 279
million discarded tires are being added to an estimated 2~3 billion tires currently stockpiled around the U.S.
The discarded tires can present both health and environmental hazards. Improperly stored tires are potential
breeding grounds for diseases-carrying insects and rodents; tire fires can be difficult and expensive to
extinguish and can cause air, soil and water quality problems.



www.arshd87.blogfa.com
09195367497

_ \VIM (SWILD AS 900 | syl 3151 e 153900 Bummie

56 — In the U.S,, there are: (AY St
1) little concerns about used tires. 2) about 2-3 billion tires on the roads.
3) billions of accumulated used tires. 4) millions of improper stockpiles of discarded tires

57 . To extinguish means to ......... ) (AY JLs)
1) put out 2) expand 3) destroy 4) find out

58 — Due to storage of discarded tires ......... . (AY JL)
1) environmental hazards may be eliminated 2) there will be potential for energy saving
3) soil quality problem can be prevented 4) water pollution may happen

Passage 11

. The human-relations aspect of engineering practice is not usually emphasized in undergraduate training
because of the great quantity of technical information and techniques the student must learn. That this may
be a fallacious course is implied by the fact that failures of young engineers because of personnel problems
are at least five times as frequent as failures because of inadequate technical training. All engineers must
realize that the industry in which they are working requires team effort of all personnel. Valuable
information can be obtained from operators of limited educational background who have observed similar
processes. The person who has “lived” with an operation has probably observed actions and effects and has
learned methods of detailed control that cannot be approached by formal theory alone. The best engineering
job can be done only with proper regard for all available facts regardless of their source. A new process or
the technical improvement of an existing one designed without due regard for the operators is usually
destined to failure. The start-up of a new plant or the installation of a technical change is likely to be much
smoother and the cost of it much less if the operating personnel understand the objectives and are convinced
of their soundness.

59 - According to the passage ......... . (AY JL)

1) there is no failure of young engineers due to personal relations.

2) inadequate technical information can be compensated by personal relations.

3) failure of young engineers due to personal relations is five time greater than failure due to inadequate
technical training.

4) failure of young engineers due to inadequate technical training is five times greater than failure due to
personal relations.

60 —~ According to the passage personal relations aspect of engineering is not emphasized because ......... .
(AY Jlw
1) it is not important in engineering practice
2) industry work does not require team effort

3) human relations aspect of engineering can be taught in industry
4) there is a lot of technical information to be taught in undergraduate training

61 . “Soundness” in the last sentence mean that the objectives are ......... . (AY JW)
1) lousy 2) logically valid 3) irrational 4) with sound

62 — According to the passage a lot of technical information can be obtained from ......... i (AY JL)

1) operating personnel 2) human relations
3) the startup of a new plant 4) observing actions and effects
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Passage 111

Batch reactors are on of the reactors that are extensively used in industry. Because of its flexibility and
convenience in operation, batch reactors are always used in manufacturing products in small volume but of
high added value. However, batch reactors are operated in a closed tank. Improper control may have other
sub-reaction or cracking reaction not found in correct production. If out of control, reactors may reach high
temperature and pressure beyond the endurance of the reactor, thus resulting in a runaway. Similar runaway
phenomenon can be found in continuously stirred tank reactors (CSTRs).

63 - Arupaway ......... . (AY J)
1) only occurs in CSTR 2) only occurs in batch reactors
3) is the limit of endurance of a batch reactor 4) 15 a situation which has grown out of control

64 . Batch reactors ......... . (AY Jw)

1) are operated at very high pressure and temperature

2) are used for massive production of expensive products

3) are used for production of expensive products

4) can be used for the production of a very limited range of products

Passage 1V

Activated carbon (AC) Las been widely used in various fields due to it outstanding adsorption capacity of
organic compounds. AC can remove harmful organic compounds from industrial wastewaters. Recently, the
demand for AC is growing rapidly in Korea as the emission standards of treated wastewater become more
stringent. However, a disadvantage of using AC is its high cost in both operation and disposal of spend ones,
which makes the regeneration of the spend activated carbon (SAC) economically feasible. Thermal
regeneration has been a broadly applied method among various techniques, but, upon the regeneration, it
suffers from production of air pollutants, a high energy input, decrease in hardness of AC, and enlargement
of pore size.

As an alternative to the thermal regeneration, chemical regeneration of SAC using organic solvents might be
a choice due to its high regenerating rates as well as recovery of the original integrity of SAC. Chemical
regeneration becomes more economical than thermal regeneration as the amount of adsorbate increases.

65 . The emission standards of treated wastewater in Korea have become: (AY JLw)
1) tougher 2) relaxed 3) more complex 4) more flexible \
66 — What can be said for thermal regeneration of activated carbon? (AY J)

1) It encloses the pore size of activated carbon.  2) It has been used more than other techniques.
3) It increases the hardness of activated carbon.  4) It has economical energy consumption.

67 —~ Chemical regeneration of activated carbon might be a better choice compared to thermal regeneration

because: . (AY JL)
1) it is always more economical 2) it uses an organic solvent
3) the amount of adsorbate increases 4) it produces reactivated carbon at a high rate
Passage V

In recent years, the risks posed by chemical industries to life, property and environment has significantly
increased due to many reasons: increased population density near industrial complexes, size of operation,

complexity, and use of extreme operating conditions. This has led to the development and use of better
| I A fAntlfnntine amd acalenin tanbialiasan LA ENMTA MDA TIATZNAD  Ata shink temr ta vaduns tha
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frequency and consequences of accidents. Such safety analyses at later stages complicate the design and
prompt additional costs. Estimates show that in the oil and chemical industries, 15-30% of capital cost is now
spent on such safety and pollution prevention measures. This has challenged chemical industries to develop
processes that are inherently safer, environmentally friendlier, simpler, and more cost effective.

Just because it has not happened yet, does not mean that one has a safe facility. Many people have said, “We
haven’t had an accident here in 15 years.” They, therefore, assume they have a safe facility. Such a statement
is an absolute fallacy. No doubt they said that one day before Bhopal, Chernobyl Pasadena, etc.

68 —. In the second paragraph of the passage “an absolute fallacy” means: (AY JW)
1) completely wrong 2) unbelievable 3) an exaggeration 4) perfectly true

69 — In the first sentence in the second paragraph of the passage, “it” refers to: (AY Jlw)
1) hazard 2) an accident
3) hazard analysis and identification 4) frequency and consequences of accidents

70 — The hazards of chemical industries have increased recently because chemical factories: (AY JL)
1) have become less complex 2) use moderate temperatures and pressures

3) have got bigger in size4) are situated near to less populated areas

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), 01 or (4) that best completes éach sentence. Then mark the
correct choice on your answer sheet.

71 — Dogs and wolves are members of the same......... . (AN JWe)
1) species 2) monsters 3) creatures * 4) primates

72 — I've been prescribed iron tables to make up the......... . (AN JL)
1) fault 2) nutrition 3) deficiency 4) protection

73 _ After years of research, scholars have finally......... this theory to a scholar in ancient Greece.

(AN Jlw)

1) pondered 2) ascribed 3) depicted 4) disclosed

74 — They......... a 500-year lifespan for a plastic container. (AN JL)
1)-alleged 2) survived . 3) diverged 4) postulated

75 - Teachers settled for a 4% pay rise with ......... effect from last April. 1) foregone (AN JLo)
1) foregone 2) preceding 3) retrospective 4) substantial

76 — Although she is only 20 years old, she has shown great ......... to stress. (AA JL)
1) potency 2) maturity 3) attribute 4) resilience

77 ~ The school governors have absolute ......... 'over which students they admit. (AN JW)
1) discretion 2) attendance 3) pragmatism 4) aggression

78 — Short questions are more likely to.........a response. (AN Jlw)
Delicit 2) undergo 3) perceive . 4) register , .

79 — Many principles are ......... in the Declaration of Human Rights. (AN W)

1) resided 2) embodied 3) proceeded 4) submitted
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80 . Scientists used to reason that the Sun went round the Earth, not ......... . (AN JL)
1) in turn 2) vice versa 3) on the other hand 4) by contrast

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) bestfits each blank Then
mark the correct choice on your answer sheet.

China has been influenced mainly by three systems of religion and morals: Confucianism, Taoism, and
Buddhism. ...(81) ... started in China but Buddhism ...(82)...from India in the 1% or 2™ century AD.
Confucianism was usually regarded as the official religion of China until the revolution of 1911. The founder
of Confucianism was Confucius, who was born in the 6™ century.

- BC and lived in ...(83) .... He taught that human happiness comes from the relationships between
people; ...(84) ...,the way in which people treat one another. The worship of ancestors an old Chinese
custom was warmly recommended by him because ...(85) ... the old ways unchanged. God was
to be honoured, but people could not know.much about him and should- not try to find out about
supernatural things.

81 - (A JL)
1) Two first 2) First two 3)The two first 4) The first two

82 . ” AA J)
1) carried there 2) was carried there
3) carried until there 4) was carried until there

83 - (AN JL)
1) trouble times 2) troubling time
3) troubled times 4)) troublesome time

84 - (AN J)
1) that is 2) in case
3) in addition 4) which includes

85~ ) (AN JL)
1) it helped keeping 2) his helping for keeing of
3) it helped to keep 4) be helped keeping

PART C: Reading Comprehension

Derections: Read the following three passages and answer questions 16-29 by choosing the best choice (1),
(2), (3), or (4). Then mark the correct choice On our answer sheet.

Passage I:

Often spectacular oxidation of organic matter by atmospheric oxygen occurs by combustion. The burning of
trees, grass and petroleum are examples of oxidation through the combustion process. Many organic
compounds can exist in the environ; ment in the presence of the 20% of oxygen in the atmosphere without
combustion occurring. However, ignition by a spark or flame initiates the occurrence of com bustion. The
burning or combustion of organic matter such as wood and petroleum,. is a major source of energy . in human
society. This has a major impact on the occurrence of oxygen and carbon dioxide in the Earth's atmosphere.
The energy produced by combustion of many organic compounds can be estimated. The production of this

enerov ic eritical tn the nee nf nroanie camnnnnde ac fuele
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86 — What is the major source of energy in our life? (AN JLo)
1) Nuclear 2) Biomass 3) Inorganic matter 4) Organic matter

87 — "Spectacular" means: (AN JL)
1) Gentle 2) Amazing 3) Partial 4) Spontaneous

88 — Oxygen depletion is because of (AA JL)
1) trees activities 2) ignition by a flame
3) release of oxygen from organic matter 4) combinations of organic matters with oxygen

89 _ Usually, the presence of oxygen will not affect organic compounds unless there is a/an (AA JL)
1) great accident 2) increase in temperature
3) major source of energy 4) radical change in occurence

90 - The text talks about: (AN JLo)
1) Fuel from Oxidation 2) Energy.for Human Society

B 3) Oxidation through Combustion 4) Combustion through Oxidation
Passage 11:

Leaching differs very little from the washing of filtered solids and leaching equipment strongly resembles the
washing section of various filters. In leaching, the amount of soluble material removed is often rather greater
than in ordinary filtration washing, and the properties of the solids may change considerably during the
leaching operation. Coarse, hard, or granular feed solids may disintegrate into pulp or mush when their
content of soluble material is removed.

When the solids form an open, permeable mass throughout the leaching operation, solvent may be
percolated through an unagitated bed of solids. With impermeable solids or materials which disintegrate
during leaching, the solids are dispersed into the solvent and are later separated from it. Both methods may
be either batch or continues.

91 - During filtration washing operation, the properties of the solvent may......... . (AN JL)
1) remain the same 2) change 3) disintegrate 4) improve

92 _ Which one of the following is the nearest in meaning to the underlined word disintegrate in the text?

(A )
1) dismantle 2) give away 3) take apart 4) break up
93 _ from the text, it is understood that during leaching operation of permeable solids, the solvent may be
an......... unagitated bed of solids.. (A L)
1) passed through 2) poured out 3) secreted into 4) stirred in
94_ Which one of the following is the nearest in meaning to the underlined word dispersed the text?(AA Jlw)
1) decayed 2) faded away 3) destroyed 4) discarded
95 — Which of the following titles is the most appropriate for the passage? (AN JW)
. 1) The Leaching Process 2) Filtration versus Leaching

3) Leaching Equipment Performance . 4) Batch and Continuous Leaching Methods
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Passage I11:

Today's chemical process industry is gearingitself toward safer technology for a better environment. With
increasing safety awareness in the industry and society, it hanbeecene every process engineer's responsibility
to design a plant that provides 'minimum damage to the environment... he emphasis is often to minimize waste
of materials and energy due to plant leaks.

Apart from pollution due to leakage of toxic materials, every drop leaked adds to the production cost. These
leaks come from various Sourcei-4ypically pumps, valves and flange joints. This can be reduced
considerably, if not eliminated totally, by various steps. Valve leakage can be reduced by: 1) proper choice
of valves with respect to material of construction, size and design conditions 2) proper installation;
3);periodic and preventive maintenance. In spite of taking all precautions, there is a possibility of fluid
leakage from the valve. gland. A bellows seal valve remedies.this problem.

96 . Which of the following suggestions is the most suitable title for this passage? (AN JW)

1) How to minimise valve leakage

2) Safer technology for a better environment

3) Toxic pollution in the chemical process industries
4) The importance of fluid leakage in chemical process

97 —~ Fluid leakage in chemical processes can lead to which of the followings: (M Jlw)
1) reduction in pollution 2) refrain from material waste
3) increase in production costs 4) decrease in energy consumption

98 _— Which of the following suggestions can reduce leakage of the valves: (AN JW)
1) the use of bellow seal valve 2) choice of valves
3) installation of the valve 4) prevention of valve maintenance

99 _ Tn the last sentence "remedies"” means: (AN JL)
1) relieves 2) activates 3) aggrevates 4) intensifies

Part D: Fill in the blank by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on you answer sheet.

100 ~There are two ways of a signal: (a) pneumatically, using compressed air or liquid, or (b) electrically,
using electrical signals. TAA JL)

1) transferring 2) transporting 3) transmitting 4) transcending
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